2)

Power Flow [8]

Optimization

[9], Genetic Algorithm [10]

(Available Transfer Capability: ATC)
(Total Transfer Capability: TTC)

(N-1 Contingency)

[4-7]

Continuation

Interior Point



[4,11-13]

31

MVA

transient
dynamic  ( 1 1000 )

synchronism
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32 4

slack bus

Bisection

6]
31

31
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slack

(1 Ll-)



Vihil
1k

pc limt
v
Sjk
p°
ASt

(3.1)-(3.3)
(AsL)

16

(s g dek _ ds
ik limit ik ) dSL ’ dSL
=5 ds das (34)
ik ik
(_S]k,lmul _ka )/[dSlL j' (_1’5,_1
4
a4, =V, =V’ )/ [( W (3.2)
ds, )
- j /(IP/
AS7 =( Py i — Fo )/ L ;Sfl‘j (3.3)
p.u.
j-K MVA
MW
i
] k
! MVA
(34)

(33)

a8, =min{ASLS,ASf,AS,_G}
MT = (+AS

(Maximum Transfer: MT)



Jacobhian

331 '

Jacobian

H1

Ad,AV
AP >AQnis

APpis AQnil
(3.6)

2

Vit0)]

(

(Inverse Jacobian Matrix)

Jacobian

~AO' = .[APmB

AV AQmL

AP, AQnis 1

)

Jacobian

7



2A

|A3| 1
= 3.7
AV A Qnns_ ( )
A3, AV
APMB, AQnis
J]' Jacobian THI
(3.7)
dP b, AQnis
(37) AP1s, AQms 2\ 1
B
2A
(3.7)
2A
31 4 7 3.3
2 1 3.2
3.3

1 20 %



31
BUS 4 1.02 pu
(swing bus) 20,97 MW anumw dkEg
88.60 Mw BUS_2 70 MW OOIMR gy 1099MVE 108.24 MW
19.22MVR | g 286 MW 25Mv-ge.o MW I 2097 MW% 21.17 MW.— G795 MR
706 MVR  \_/  -5.11MVR -9.94 MVR\_/ 10.98NNFF— 1.05 pu
()-fe2zm O m O
.05 pu - oMW,
é“ 19.42 \wW
S o))y
[/ A0avw
= 1;’581 m : -9.65 MVR
1.01 pu BUS_1
40MW
15 MVR
3.3 4 7
31
1

1 40 MW, 15 MVAR

2 48 MW, 18 MVAR

3 56 MW, 21 MVAR

4 64 MW, 24 MVAR

) 72 MW, 27 MVAR

6 80 MW, 30 MVAR

7 88 MW, 33 MVAR

8 96 MW, 36 MVAR V. < .95 p.u.
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31 2
88 MW, 33 MVAR 96 MW, 36 MVAR
Bisection
3.2 3.2

3.2 Bisection
1 88 133 9 136 92 1345
2 92 1345 96 136 94 135.25
3 94 135.25 96 136 95 135.625 V, < 0.95 p.u.
4 94 135.25 95 135.625 94.5 135.4375
5 94.5 135.4375 95 135.625 94.75 1355313

10 94.9531 135.6075 ~ 94.9687,35.6133  94.9609 135.6104

3.2
()
10 20%/2°  0.0195 %
1 94.9609 MW, 35.6104 MVAR
2 1

34



tTfilU il

V. EH  J}H liritdiflo vl
swing bus
(NG 10s) -15.42 MW 15.56 MW BUS_3
-11.49 MVR 12.20 MVR
BUS_2
149,30 MW — 70 MW 08,20 M
0 25 MVR % G L 108,20 MW
25.90 MR 3991MW g -3917MW -15.42 MW 15.56 MW 96.30 MVR
5.70 MVR N -2.01 MVR -11.49 MVR 1250 VR “N 1.05 ~
3271 MW -31.97 MW —I—-( ( ))
-10.49 MVR 1263 MR B R
25,84 MW —B—{l— 6oMw
10,35 MVR o 30 MVR

25 MW
10 MVR

25.84 MW

10.35 MVR “29.43 MW

“6.13 MVR o
" -46.10 MW

-24.43MW ) -23.35 MVR

-6.13 MVR

0.95pu BUS_1
94.96 MW

3561 MVR N\~

34

3.2

Swing bus 10 MVA

dSL dSL dSL

dS1_ dSI1 dSZ2 dSAdSAdSA dSjd dSH,
dSL= dS! dSL ~SL ~dSL dSL dST ds,
=[0.2471 02471 05111 03221 0.1746 -0.0724

49.05 MW
3 29.26 MVR
-

-0.0724]'
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q* OS2 dS22 dS3 dS3 dS.2 dS2, dS4
dSL  _dSL dSL ~0SL ~dSL ~5L dSL dSL

= [0.2698 0.2698 0.5569 0.3221 0.1698 -0.0705 -0.0705]'

dv o mdv, dv, dv, dv,

£ gl gs| dsl go| = -0.9678 0 0 -0.0042]'xI0'3

dPa F@ dPes - [0995 O]r

dSC dSL dSL
2
1
(3.1M33)
‘(40 -10.8451 )/ 02471 '117.9883
(40 -10.8451 )/ 0.2471 117.9883
(80 -21.2913 )/ 05111 114.8673
ASTi (B0 -14.4038)/ 03221 = 1415501  MVA
(100 - 29.3213 )/ 0.1746 404.8036
(50 -23.8480 )7-0.0724  1020.00
(-50 - 23.8480 )/-0.0724  1020.00
'(40 -11.2546 )/ 0.2698 '106.5434
(40 -11.2546 )/ 0.2698 106.5434
80 -22.0951 )/ 0.5569 103.9772
M Ti (60 -14.4038 )/ 03221 = 1415591  MVA
)/ 0.1698 420.9064

-50 -23.2045 )/ -0.0705 1038.362

(
(
(100 -28.5301
(-
(-50 -23.2045 )/-0.0705  1038.362

10.95 -1.0118 )/ (-0.9678 x70-J) '63.8562°

(0.95 -1.0500 )/0 inf

9.95 -1.0500 )/ 0 nt VA
(095 -1.0217 )/(-0.0042 x70'3) 170714 _



'(200-88.5967)/0.9950"  '111.9634"
"= (200-108.2400)/0 inf

asl = Minfas7, AST ,ASyIASEI= 63.8562 MVA

63.8562 MVA (
8.79% )
MVAR)
99.7904 MW, 37.4214 MVAR

23

31
42.72 MVA (40 MW, 15
106.5762 MVA

33

0.0012
0.0007

- 0.0095
- 0.0000

0.0714

AP3 Imis

A1 mis
AP i
AQimis
AQt.mis

3.3
1
331 ( 1)
1
10 MVA (37)
‘ASst - 01035 0.0635  0.0754  0.0055
AST7 0.0604 0.1528 0.0440 -0.0409
AS4 = 00740 00454 01213  0.0039
AV,  -0.0031 0.0560 -00023 0.1220
AV4 0.0006  0.0004 0.0180  0.0000
max\AP\\AQ"
2
10 MVA 1
2
( A A /\/\) 1

dSL 'dSL' dS?

0.001

3.2
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3.2) 63.8839 MVA

638839 MVA 598163 MW, 22.4311 MVAR MVA (
31 8.83% )
40 MW, 15 MVAR 99.8163 MW, 37.4311
MVAR

34 2 1
1-3 1 [
33 331( 2

71 0 33
Al

-4.3047 43047 0 19873 0

41914 -4.1914 0 -18360 0

Al = 0 0 0 0 0
-2.2313 22313 0 -39519 0

0 0 0 0 0

Jj* "1 " Sherman-Morrison

0.1280  0.0000 0.0933 -0.0000 0.0015
0.0000 0.2892  0.0000 -0.0780 0.0000
0.0915 0.0000 0.1341 -0.0000 -0.0093
-0.0000 01197 -0.0000 0.3030 -0.0000
0.0008 0.0000 0.0181 -0.000 0.0714

b (37)
1 10MVA



2

2 1 1
3
- N — I~

(dS]. dsL’dsrl) L 3.2

( 2 3.2) 1.9459 MVA
3
1 1.9459 MVA MVA (
17.14% ) 42.72 MVA
2 1 1-3
44.6659 MVA  41.8220 MW, 15.6832 MVAR
3.4 2
34.1
slack bus
0
Pi=P- + XKR (3.8)
Qi=Q°+Mq (3.9)
p.°,0° i
KPL,KQ
X
(3.8) (3.9) X
F(X,X)=0 (3.10)
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F(X.X) 1
Z K[ * cos(0i- » +" «'«™ - £k)] - (Pa- Pu)=0.ViePQ,PV (3.11)
YAViVK[ g jksin(0] -0 k) - b jkcos(0i-0k)]-(Q G-Q L)=01Vye (312

F 1 |k
01, £4 ik
1bik (k) Ybs
Qe ® |
Pu 1Qu |
(3.10)
(contingency)
gjk=pgjk (3.13)
bjk = phjk (3.14)
1 0
F(X,X,n)=0 (3.15)
342 OXIOX
=1
X=0
F(X° x°, °)=0 (3.16)
(3.16) (0
re OF, 5F, 1,
00V 0K gy (3.17)
dF, dF1 OF2

Lde Ov OxJ



FL1  F(X,X)n)
F2  F(X,"*n)
(3.17)
Tnef
sp 0P
0 oV
0Q 0Q
00 dv _
Raphson
A
X
/\I\
X
(3.18)
dx°
~OX
34.3 OXIOX
)
2) OXIOX

x 07

, (3.12) PV PQ
1 313)  PQ
op dp OP d6
e v (319)
Q & @
_060 ov  ox_
Jacobian Newton-
KA
KQ
51 Wi
"o op op't Op
OX o Ov O
w % a0 60 ¢ 319
oV 00 00 0Q (3.19)
_OX_ cdo OV . OX J
OX/OX
X

2



Toed
d &
b OV
oF2 dr?
@ dvl

E |
aF

1 1
X
dx/dx
2 X
X0 (3.13)-(3.14) A
-k
F(X?,).20) =0 (3.20)
(k=0 (3.20)
E E1 E 1 (0
EOB ;VI ng dv -0 321)
‘dl) 8V vy tu
Jacobian Newton-Raphson
0 -k ( )
du
0 -k ( )

0Qk  dQj 0 4

o

28



Pl

du " dfi

(3.19)
X

344

Fbus

ok QL

" du 51/

-rf-=7[* Agl cosfSi - k) +hbiksin(s1- 0k)]

j= Vivk[ gjk cos(Sj- )+ bjksin(SJ- 6k)]

- N o= vjvk[ gjk sin(Sj -S k)~ bjk cos(Sj - )]

(3.22)
(3.29)

(3.24)

J

(3.26)

(3.27)

AzVo o K ,,8«< =S »oosts, - 1Y (329)
SQ__
k(
(3.21)
A e Tptfil
06 d v Wy
dv Q do  F,
(4o dv_
1 =] 1=0
X K
[5} {5”} {d&
X = = +
| 4 284 av
(319) dx/dk
o ave v

1TC



= (Vim - K°JIFOF 1O Xjyie PQ
= frew -s°ik)/(dSk/OX) -dSik/OX>0
s=V - W -S-k)/(dsk/oX)-ds, /OX<0

Alc

"W p.U.

’ ik MVA
P i MW

FO i

1 J k
PG
(328)  dV;/dA (3.19)
dsjk/OX ~ dPG/
3.4.5 dSk/ dX

afiSalaf
Pik=Vj 29k - Vj vky'keos(Sj - s k + e ik)
Qjk =-Vj%J - V) 2ojk - Vj Vkydksin(51  t + Gk)

dSkj s j dvj+ dsk dvk+ds, dsj+ dsk 6ok
OX ~dvj OX dvk OX OS1 Ox dst OX

X Ox Ox  OX (3.19)

(329)

(329)
(330)

(3:31)
(3.32)
(3.3

(334)

0



as\ dPk  dQKk
P,-=, +0,
av) Sk ov, Q dv,

0Py -
oV
Sk = 2ipj -2Viok - ey fein (5 - ok-+ 0K

Vjgik-Vky Jcos(6] -6 k+9K)

as,L=J dP, *
T DK O vk

djk

dvk™ v

dQk =

dK -Vijyjksin(Sj -0 k+ojx)

ash = _7_ oy 10, g
P*°—1k-+ oS
Mj = *' &S] Ok 0:

t;l\}lL_ = VjVkyjksin( 0 j- 6 k+0jk)
j
20K = Vi jkcos (0] - 0 k+6K)

do;
ast =) OGPk  dOkK
P L

dp K e
ko dPk . .
~d61™ ~~do: VJVkYJksm(OJ O&+OJ()

doj 20" - o
o gy Mrkos(s5ke o)

(3.35)

(3.36)

(3.37)

(3.39)

(339)

(3.40)

(3.40)

(3.42)

(3.43)

(3.44)

(3.45)

(3.46)



34.6

OPGIOA

Pa =z KK[g, coats,-S1;+h, (,-SJ]+Pu

oV

35

1
Jacobian J0

2

163JdX
46, )dX

dodfdk - -

dV1)dX
dvajdl

do

68X

Ox ¢V

0)¢

(3.19)

' 0.1035
0.0604
0.0740

- 0.0031
0.0006

' -26218 °
- 5.5004
- 18741
- 4.0706
- 0.0160

0.0635
0.1528
0.0454
0.0560
0.0004

x 10

cd  dX

Jacobian

34

0.0754  0.0055
0.0440 - 0.0409
01213 0.0039
-0.0023  0.1220
0.0180  0.0000

(3.47)
(3.49)
Pq
(3.19)
2 1
00012 0
0.0007 040
200095 0
20,0000 015
00714 0



2

slack bus

Z%QL

ds gk
0V

1 dAv N dAvAt as
OA "OA " OA

0A
dS dS

1=15181 (1A =V402+15 2 =42.72 MVA)

36
1-3
1
Jacobian J0
2
'‘AS3’
AS1
asd = -1 x
AV,

31

42.712 MVA 1
100.7278 MW, 37.7729 MVAR

" 0.1035

0.0604
0.0740

- 0.0031

0.0006

0.0635
0.1528
0.0454
0.0560
0.0004

3 PV
SCE))&'
dsik ssjk
"dl\ 7 esl
5, ’
(3.48)
1

(3.26)

0.0754
0.0440
0.1213
- 0.0023
0.0180

. 0S;
' CS%

3.2

(3.27)

0.0055
- 0.0409
0.0039
0.1220
0.0000

V12 o\

(3.35M3.46)

" (3.34)
ds, dSs
dS ' dS

2 32

648574 MVA (

10.49% )
1075771 MVA

34

0.0012
0.0007

- 0.0095
- 0.0000

0.0714

0.1942
- 0.1898
0
- 0.0964
0

X (-1)



o 0.007520

- 0.013332
A4 0.005375
AV, -0.023010
0.000045

3 [ &
= 0.1277

0014, 0 .
004je/. ~—Xx 00913 0
OV/5) 0
_Ovafo)._ 0.0006 0
~(103/0X 0
00, )dX - 0.1082
d04/0A = 0
OV, )dX - 0.0996
OV4jdX 0
2 slack bus
4
)3
1
17.14% )
2 1

41.8220 MW, 15.6832 MVAR

Jn

7

0.0930

0.1339
01301 0
0.0179

PV

1.9459 MVA MVA (

13

0.9888Z -3.8774°
1.0500Z 0.0°
1.0500Z-1.1553°
1.0217Z -3.3057°_

0.0013"" 0

00748 0 0.40

-0.0094 0
03169 0 0.15
00714 0
V2152 \3
42.72 MVA
44,6659 MVA
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1

1S 1 'ds 1hds L

331

(4sL dsi dst)

[4
3.2

14
33

(3.1M3.5)

+10%

g bhCAAAS



+20 %

2
2
3.4
(3.28M3.30)
2
1 OXI01 !
+10% 1
120 %
5
2 dX/dX (3.26) - (3.27)
g I J
100
100
1

( 50 %)
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